APCSA

Chapter 8 Quiz And More

Answer the following problems, documenting your solution using nouns, verbs, and –ly words.

1. Which is better – One, Two, Three, or Four? Why? 
2. The String class is an example of what kind of class?

3. Explain this function:
         Direction getDirection(Location fromLoc, Location toLoc);

4. Compare and Contrast a Darterfish and a regular Fish.
5. Why does the “allObjects” method use that order to return fish?
6. What do you have to do to run the MBCS on your workstation?

7. How do you win at Pass the Pig?

8. What is Program Implementation in the eyes of the Acorn?
9. What is the wrapper class for the primitive type int?
10. Write a statement that copies the elements in the data array to the newData array.

	double[] data = new double[15];

double[] newData = new double[2 * data.length];


11. You must use what kind of classes to treat primitive type values as objects? 
12. For the following statement what is primes[3]?
	int[] primes = {2, 3, 5, 7, 11};


13. What method is used to add or remove elements in the middle of an array?

14. Based on the statement below, the angle brackets around the BankAccount type indicate what about BankAccount?


	ArrayList<BankAccount> accounts = new ArrayList<BankAccount>();




15. How can you grow an array that has run out of space?
16. What is the following search process called?

	public class Bank

{

    public BankAccount find(int accountNumber)

   {

      for (BankAccount a : accounts)

      {

          if (a.getAccountNumber() == accountNumber) // Found a match

          return a;

       }

       return null; // No match in the entire array list

    }

       . . .

}


17. What is the error in the following code fragment?

	double[] data = new double[20];

data[20] = 15.25;


18. Which of the following statements is correct?

A) You should step over a method to check whether it carries out its job correctly.

B) You should step into a method if you know it works correctly.

C) You should step into a method to check whether it carries out its job correctly.

D) The larger your programs get, the easier it is to debug them.

19. What types are often used to make code more general and more reusable by focusing on the essential operations that are carried out?

20. Run the MBCS simulation. Set the seed to any arbitrary value.
Run the simulation several times with the same configuration file and the same seed value to make sure that every run displays the same behavior. Run the simulation several times with the same configuration file but with different seed values. Does every run display the same behavior, or different behavior? Explain.

21. Explain Roedy’s Us.

22. Insert the missing statement in the following code.

	/**

   This program computes square roots of selected input values.

*/

  public class RootApproximatorHarness1

 {

    public static void main(String[] args)

    {

        double[] testInputs = { 100, 4, 2, 1, 0.25, 0.01 }; 

        for (____ )

        {

            RootApproximator r = new RootApproximator(x);

            double y = r.getRoot();

            System.out.println("square root of " + x + " = " + y);

         }

     }

 }


23. What is the following code is an example of?

	public static int min(int a, int b, int c)

{

  ...

}

public static int min(int a, int b, int c, int d)

{

    ...

}








24. Based on the code below, which of the following statements is correct?
	public interface Measurable

{

   double getMeasure();

}

public class Coin implements Measurable

{

    public double getMeasure()

    {

        return value;

    }

    ...

}

public class DataSet

{

    ...

    public void add()

    {

       ...

    }

}

public class BankAccount

{

    ...

    public void add()

    {

       ...

    }

}

	
	


A)
Coin dime = new Coin(0.1, "dime");

Measurable x = dime;
B)
Coin dime = new Coin(0.1, "dime");

Dataset x = dime;
C)
Coin dime = new Coin(0.1, "dime");

DataSet x == dime;
D)
Coin dime = new Coin(0.1, "dime");

BankAccount x = dime;
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